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Part A 5

Answer all questions.
Each question carries Y% weightage.

The diodes in a bridge rectifier have a maximum d.c. current rating of 2A. This means the d.c load
current can have a maximum value of :

() & - s s (b) 2A.
() 4A. : (d) 8A.
A Zener diode:
(2) Is a battery.
(b) Is arectifier diode. ;
(¢) Has a constant :\roltage in the breakdown regio:..
() Isforward biased.
In a transistor the éollector.diode has to be :
(a) Forward biased. _ (b) Reversc biased.
(¢) Non-conducting. ‘ (d) None ui these.
The base- emitter voltage of an ideal transistor is :
(a) 0.3V. : (b) 0.7V.
(¢) ov. (d) High .oltage.
Three different Q points ai‘e shown on a load line. The upper Q point given the :
(a) Minimum current gain. ¢ (b) Intermediate current gain.

{¢) Maximum current gain. (d) Cut-oit point.
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6. Voltage divider bias needs :

(a) Only three resistors. " (b) Only une supply.

(c)- Precision resistors. (d) Active devices.
7. The input impedence of a JFET :

(&Y Approaches zero. (b) Approaches one.

(c) Approaches_inﬁnity. (d) Impossible to predict.
8. The c'o‘upling cil;cui'tAin an oscillator is :

(a)- Lagcircuit. (b) Lead vircuit.

(¢) Lead-lag¢ C1rcu1t (d) Resonant circuit.

9. Each4 bit binary group is called
(a) Bit. : . (b) Nibble.
(c) Byte. Al (d) Word
10. In a digital computer bmary subtraction is performed m'mg :
(a) Usmg 2’ S complement method by Usmu 9'S complement method.
(¢) Using 10’_S complement method. (d) None of these.
il An AND gate'can Be im'agined as :
. (a) Sviritcheé connected in series. (b) Switviies connected in parallel.
_ (c) -TransiStdt-S connected in series. (@) Transistors connected in parallel.
12 =K nnp is used :
(a) To minimize the number of flip flops in a digital circuit.
{b) - Lo minimize the number of gates only in a digiial circuit.
(¢) To minimize the number of gates and the fan in requirements.
(d) Todesign gat'es.

(12 x Y
Part B <

Answer all question:
a Each question carries 1 weightage.

13. What is ripple factor ? On what factors does it depend.

14. What property of the transistor is used in the process of amplification ? Explain.
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What is negative feedback ? What are its important cliaructeristics ?
What is amplitude modulation 7 \¥ here is it used ?
What is slew rate'? On what factors does it depend ?
Distinguish between LC and RC oscillators.
Why is the binary humber used in digital systems ?
Explain the sign magnitude representation of number:
Explain how'voltage stabilization is done using a Zener diode.

951 =19 welghtage)
Part C

Answer any five questio: .
Eacl question carries 2 weislituge.

Draw and explain the common emitter characteristi_cs of an NPN transistor. Draw the load line
and define quiescent point.- '

Explain voltage- divider bias. For the circuit given below calculate IC, IE, VCE and Q point.
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What sis frequency modulation ? Where is it used? Cui:.sare it with AM.

What is demodulation ? How is demodulation achieved using a straight receiver.

k Distinguish between Inverting and Non-inverting amylifiers using figures.
[ :

I Discuss I's and 2’s complement 1iethods of subtraction

’ -
£ State and prove Demorgains theorem.
|

O x 2 = 10 werglitage,
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Part D

Answer any two questions.
Each question carries 4 weightu:e.

Describe the working of RC coupled amplifier. Usingthe a.c. yuivalent circuit obtain an expressi

for the amplification. Draw the frequency response and define band width.

Describe the construction and working of an RC phase-shift oscillator. Obtain the expression

frequency. Design a phase-shift oscillator to have a frequency of 1 kHz.

(a) Whatis the necessity to reduce Boolean expression. Give the procedure to reduce Bool
expression.

(b) What are universal gates ? Expluin the working of NAND and NOR gates as universal el

Explain the working of a fullwave rectifier. What are filter circuits:? Explain its how it affects

output of rectifier curcuits.
(2 x 4 = 8 weight



